                                               ITC ASSIGNMENT-II
ALL BATCHES ANSWER FIVE QUESTIONS

1.Distinguish between exhaustive  search method and sequential decoding of convolutional codes.
2. List and explain the descrete memory less channels

3.Sketch the encoder and syndrome calculator for  the  generator polynomial g(x) = 1+x2+x3. And obtain the syndrome for the received code word 1001011.

4. Discuss convolutional codes in detail.Using both time domain and transform domain approaches with an example.

5.Write short notes on

   i) trellis codes

   ii) parity check bit coding for error detection

